Name: Long multiplication - missing number (Skill 83)
Long multiplication (missing number)
1) 14 x =1218 11) 41 X = 1517 21) 53 x = 3710
2) 71x = 3479 12) 20 x =1700 22) 61 X = 3294
3) 67X =1742 13) 73 X = 3358 23) 82 X = 1066
4) 24 x = 1464 14) 64 X = 4544 24) 24 x = 1008
5) 84 x = 4284 15) 50 x =1750 25) 43 X =774
6) 43X = 4257 16) 92 x = 2300 26) 88 x = 4576
7) 55x = 4345 17) 19 x =209 27) 60 x = 3180
8) 58 x = 5684 18) 28 x = 1540 28) 98 x = 4312
9) 49X = 3136 19) 11 x =561 29) 17 x =680
10) 73 x = 803 20) 35 x = 1505 30) 62 X = 3968
Answers, fold under: Mark your work when you have finished.
1) 87 6) 99 11) 37 16) 25 21) 70 26) 52
2) 49 7) 79 12) 85 17) 11 22) 54 27) 53
3) 26 8) 98 13) 46 18) 55 23) 13 28) 44
4) 61 9) 64 14) 71 19) 51 24) 42 29) 40
5) 51 10) 11 15) 35 20) 43 25) 18 30) 64
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